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Question ID : 99836725817
Status : Answered

Chosen Option : 4

Q.1 Which of the following does NOT serve as an evidence of evolution?
Ans 1. Comparative biochemistry

2. Natural selection

3. Fossils

4. Comparative anatomy

Question ID : 99836725877
Status : Answered

Chosen Option : 4

Q.2 What is the function of Nissl’s granules?
Ans 1. It is a site of lipid synthesis.

2. It is a site of myelin synthesis.

3. It is a site of protein synthesis.

4. It speeds up nerve impulses.

Question ID : 99836725857
Status : Answered

Chosen Option : 2

Q.3 The chemicals released in the human body during an anaphylactic shock are:
Ans 1. adrenalines

2. histamines and serotonins

3. interferons

4. complement proteins

Question ID : 99836725919
Status : Answered

Chosen Option : 1

Q.4 Which of the following is an example of living fossil?
Ans 1. Limulus

2. Culex

3. Locusta

4. Laccifer

Question ID : 99836725828
Status : Answered

Chosen Option : 1

Q.5 The type of aestivation in cassia flower is:
Ans

Section : Subject Knowledge



1. vaxillary

2. valvate

3. twisted

4. imbricate

Question ID : 99836725907
Status : Answered

Chosen Option : 4

Q.6 Root nodules have leguminous haemoglobin that functions as a/an:
Ans 1. oxygen transporter

2. oxygen scavenger

3. carbon dioxide transporter

4. source of energy

Question ID : 99836725840
Status : Answered

Chosen Option : 2

Q.7 The pollen grain wall does NOT have:
Ans 1. chitin

2. pectin

3. sporopollenin

4. cellulose

Question ID : 99836725912
Status : Answered

Chosen Option : 1

Q.8 Unicellular elongations of epidermal cells are called:
Ans 1. trichomes

2. epidermal hairs

3. epidermal fibres

4. root hairs

Question ID : 99836725833
Status : Answered

Chosen Option : 1

Q.9 Which of the following constituents are prerequisite for Calvin cycle?
Ans 1. CO2, ATP, NADP+, Pi

2. CO2, ADP, NADP+, Pi

3. CO2, H2O, ATP, NADPH

4. CO2, ADP, NADPH

Question ID : 99836725845
Status : Answered

Chosen Option : 3

Q.10 A permanent cure for ADA deficiency could be through:
Ans 1. bone marrow transplantation

2. modified lymphocyte transfusion

3. gene therapy at early embryonic stages



4. enzyme replacement therapy

Question ID : 99836725893
Status : Answered

Chosen Option : 3

Q.11 In a marine food chain, diatoms serves as:
Ans 1. primary producers

2. secondary consumers

3. primary consumers

4. tertiary consumers

Question ID : 99836725905
Status : Answered

Chosen Option : 1

Q.12 Carpal and metacarpal joints of the thumb are an example of:
Ans 1. pivot joint

2. gliding joint

3. socket joint

4. saddle joint

Question ID : 99836725856
Status : Answered

Chosen Option : 2

Q.13 __________ is lowering down the expression of a gene by using a short stretch of
RNA.

Ans 1. RNA interference

2. Nucleic acid methylation

3. CRISPR

4. Gene knockout

Question ID : 99836725891
Status : Answered

Chosen Option : 1

Q.14 Parbhani kranti is a hybridised variety of:
Ans 1. bottle guard

2. cauliflower

3. okra

4. tomato

Question ID : 99836725885
Status : Answered

Chosen Option : 3

Q.15

Ans 1. intrinsic rate of natural increase

2. population density

3. carrying capacity

4. intrinsic birth rate



Question ID : 99836725897
Status : Answered

Chosen Option : 1

Q.16 How many chromosomes will a cell (2n = 14) have after ‘S phase’ of its cell cycle?
Ans 1. 14

2. 13

3. 28

4. 7

Question ID : 99836725839
Status : Answered

Chosen Option : 1

Q.17 The primary oocyte first appears in the ovary during:
Ans 1. birth

2. puberty

3. foetal life

4. childhood

Question ID : 99836725863
Status : Answered

Chosen Option : 1

Q.18 Lack of secondary sexual characters and sterility is seen in females with:
Ans 1. Down syndrome

2. Turner syndrome

3. haemophilia

4. Klinefelter syndrome

Question ID : 99836725874
Status : Answered

Chosen Option : 2

Q.19 An example of adaptive radiation is:
Ans 1. evolution of birds from reptiles

2. evolution of Darwin’s finches

3. evolution of bryophytes

4. evolution of man

Question ID : 99836725871
Status : Answered

Chosen Option : 2

Q.20 The factor underlying the exclusive survival of most marsupials endemic to Australia
is:

Ans 1. continental drift

2. mutation

3. gene flow

4. Genetic drift

Question ID : 99836725916
Status : Answered

Chosen Option : 1



Q.21 The numbers of polypeptide chains in insulin and proinsulin, respectively, are:
Ans 1. 2 and 3

2. 2 and 1

3. 1 and 3

4. 1 and 2

Question ID : 99836725892
Status : Answered

Chosen Option : 1

Q.22 Primary productivity is expressed in terms of:
Ans 1. kcal·m2

2. g–2m–2

3. kcal

4. kcal/m2

Question ID : 99836725900
Status : Answered

Chosen Option : 4

Q.23 Identify the condition in which the heart muscle is suddenly damaged by an
inadequate blood supply.

Ans 1. Angina

2. Heart attack

3. Cardiac arrest

4. Heart failure

Question ID : 99836725853
Status : Answered

Chosen Option : 3

Q.24 The Bt toxin gene that encodes the toxin against corn borer is:
Ans 1. cryIIAc

2. cryIAb

3. cryIAc

4. cryIIAb

Question ID : 99836725894
Status : Answered

Chosen Option : 4

Q.25 Lecithin is a type of:
Ans 1. glycoprotein

2. phospholipid

3. sphingolipid

4. glycolipid

Question ID : 99836725837
Status : Answered

Chosen Option : 1

Q.26 Enzymes are majorly classified into how many classes?
Ans 1. Eight



2. Five

3. Six

4. Four

Question ID : 99836725838
Status : Answered

Chosen Option : 2

Q.27 The STD caused by HPV is:
Ans 1. chlamydiasis

2. genital warts

3. trichomoniasis

4. genital herpes

Question ID : 99836725867
Status : Answered

Chosen Option : 1

Q.28 The factor that does NOT favour decomposition is:
Ans 1. high temperature

2. presence of oxygen

3. moist soil

4. lignin- and chitin-rich detritus

Question ID : 99836725901
Status : Answered

Chosen Option : 4

Q.29 The symbols C and K in a floral formula respectively denotes:
Ans 1. calyx and corolla

2. corolla and calyx

3. calyx and gynoecium

4. corolla and gynoecium

Question ID : 99836725834
Status : Answered

Chosen Option : 1

Q.30 Zygomatic bones are also called:
Ans 1. nasal bones

2. cheek bones

3. cranial bones

4. jaw bones

Question ID : 99836725911
Status : Answered

Chosen Option : 2

Q.31 Immunisation against tetanus is done using:
Ans 1. inactivated vaccine

2. toxoid vaccine

3. live attenuated vaccine

4. recombinant vaccine



Question ID : 99836725920
Status : Answered

Chosen Option : 3

Q.32 The gene-editing technology CRISPR stands for:
Ans 1. Clustered Relatively Interchangeable Small Palindrome Repeats

2. Clustered and Randomly Interchangeable Palindromic Repeats

3. Cloned Regularly Interspaced Short Palindrome Repeats

4. Clustered Regularly Interspaced Short Palindromic Repeats

Question ID : 99836725895
Status : Answered

Chosen Option : 1

Q.33 Blue-green algae belong to which of the following kingdoms?
Ans 1. Plantae

2. Fungi

3. Monera

4. Protista

Question ID : 99836725830
Status : Answered

Chosen Option : 3

Q.34 Female heterogamety is observed in:
Ans 1. drosophila

2. insects

3. humans

4. birds

Question ID : 99836725872
Status : Answered

Chosen Option : 4

Q.35 The enzyme used in the isolation of DNA from bacterial cell is:
Ans 1. lysozyme

2. cellulase

3. chitinase

4. proteinase

Question ID : 99836725890
Status : Answered

Chosen Option : 1

Q.36 Mammals and birds have respectively evolved from the reptilian orders:
Ans 1. Synapsida and Sauropsida

2. Anapsida and Diapsida

3. Sauropsida and Synapsida

4. Both have evolved from Synapsida

Question ID : 99836725878
Status : Answered

Chosen Option : 3



Q.37 The natural reservoir of phosphorous is/are:
Ans 1. atmosphere

2. oceans

3. rocks

4. river bed

Question ID : 99836725923
Status : Answered

Chosen Option : 2

Q.38 During photosynthesis, the majority of light is trapped by which of the following
pigments?

Ans 1. Chlorophyll a

2. Xanthophylls

3. Carotenoids

4. Chlorophyll b

Question ID : 99836725843
Status : Answered

Chosen Option : 1

Q.39 Formation of pyruvate from glucose in glycolysis is a/an:
Ans 1. anabolic process

2. catabolic process

3. aerobic process

4. amphibolic process

Question ID : 99836725846
Status : Answered

Chosen Option : 4

Q.40 Lactational amenorrhoea is associated with high serum levels of:
Ans 1. LH

2. estradiol

3. prolactin

4. GnRH

Question ID : 99836725865
Status : Answered

Chosen Option : 2

Q.41 The species interaction where one species is harmed and the other remains
unaffected is:

Ans 1. ammensalism

2. competition

3. commensalism

4. predation

Question ID : 99836725898
Status : Answered

Chosen Option : 1

Q.42 Diuretics are misused by athletes to:
Ans 1. speed up elimination of drugs from the body



2. increase lung function

3. mitigate muscle pain

4. increase muscle mass

Question ID : 99836725881
Status : Answered

Chosen Option : 4

Q.43 The cell theory as proposed by Schleiden and Schwann lacked which of the following
information?

Ans 1. Cell wall is present in plant cells

2. Cells are surrounded by plasma membrane

3. New cell arise from pre-existing cells

4. Different types of cells exist

Question ID : 99836725836
Status : Answered

Chosen Option : 2

Q.44 Which of the following is a non-muscular structure?
Ans 1. Pyloric valve

2. Epiglottis

3. Sphincter of Oddi

4. Gastro-oesophageal sphincter

Question ID : 99836725849
Status : Answered

Chosen Option : 3

Q.45 In primary succession on rocks, which species serve as the pioneer species?
Ans 1. Lichens

2. Grass

3. Bryophytes

4. Gymnosperms

Question ID : 99836725903
Status : Answered

Chosen Option : 1

Q.46 Resource partitioning is one of the methods to avoid:
Ans 1. parasitism

2. mutualism

3. competitive exclusion

4. predation

Question ID : 99836725899
Status : Answered

Chosen Option : 3

Q.47 The EcoRI restriction endonuclease cuts its recognition sequence between bases:
Ans 1. T and C

2. A and T

3. G and A



4. A and A

Question ID : 99836725889
Status : Answered

Chosen Option : 3

Q.48 The Indian bullfrog, Rana tigrina, does NOT have:
Ans 1. cloaca

2. double circulation

3. mucous glands

4. nucleated RBCs

Question ID : 99836725831
Status : Answered

Chosen Option : 4

Q.49 The common cause of Burkitt’s lymphoma is:
Ans 1. human papilloma virus (HPV)

2. hepatitis B virus (HBV)

3. human immunodeficiency virus (HIV)

4. Epstein-Barr virus (EBV)

Question ID : 99836725882
Status : Answered

Chosen Option : 4

Q.50 The maximum mean annual precipitation is seen in:
Ans 1. tropical forests

2. coniferous forests

3. Arctic and Alpine tundra

4. grasslands

Question ID : 99836725896
Status : Answered

Chosen Option : 1

Q.51 Which of the following are small-molecular-weight compounds?
Ans 1. Lipids

2. Polysaccharides

3. Proteins

4. Nucleic acids

Question ID : 99836725908
Status : Answered

Chosen Option : 1

Q.52 Attraction of water molecules to polar surfaces is termed as:
Ans 1. water potential

2. cohesion

3. adhesion

4. surface tension

Question ID : 99836725909
Status : Answered



Chosen Option : 3

Q.53 Which of the following is a copper-releasing IUD?
Ans 1. Lippes loop

2. Progestasert

3. LNG-20

4. Multiload 375

Question ID : 99836725866
Status : Answered

Chosen Option : 1

Q.54 Zona pellucida is formed:
Ans 1. before primary oocyte is formed

2. In follicular cells

3. In secondary oocyte

4. In follicular cells and primary oocyte both

Question ID : 99836725869
Status : Answered

Chosen Option : 3

Q.55 The plants grown through micro-propagation are called:
Ans 1. tissue culture

2. explants

3. somaclones

4. somatic hybrids

Question ID : 99836725886
Status : Answered

Chosen Option : 3

Q.56 In the human ovary, ovulation takes place at the:
Ans 1. end of the secretory phase

2. end of menstruation

3. beginning of the proliferative phase

4. end of the proliferative phase

Question ID : 99836725864
Status : Answered

Chosen Option : 3

Q.57 Interferons are released by ___________ against viral infections.
Ans 1. virus-infected host cells

2. hepatocytes

3. blood platelets

4. uninfected blood cells

Question ID : 99836725880
Status : Answered

Chosen Option : 1

Q.58 The partial pressure of oxygen and carbon dioxide in alveoli, respectively, are:
Ans 1. 104 mmHg and 40 mmHg



2. 159 mmHg and 0.3 mmHg

3. 95 mmHg and 40 mmHg

4. 40 mmHg and 45 mmHg

Question ID : 99836725851
Status : Answered

Chosen Option : 1

Q.59 Which of the following proteins and their site of synthesis is INCORRECTLY matched?
Ans 1. ANF - Neurohypophysis

2. Aldosterone - Adrenal

3. Renin - Juxta glomerular apparatus

4. Angiotensinogen - Liver

Question ID : 99836725854
Status : Answered

Chosen Option : 1

Q.60 Ferguson reflex is initiated by:
Ans 1. ovary

2. uterus

3. pituitary

4. foetus and placenta

Question ID : 99836725870
Status : Answered

Chosen Option : 2

Q.61 In GIFT, a mix of eggs and sperm is allowed to fertilise in a/the:
Ans 1. culture media

2. uterus

3. cervix

4. fallopian tube

Question ID : 99836725868
Status : Answered

Chosen Option : 4

Q.62 Which of the following is INCORRECTLY matched?
Ans 1. Cnidoblasts - Defence

2. Radula - Reproduction

3. Parapodia - Swimming

4. Malpighian tubules - Excretion

Question ID : 99836725826
Status : Answered

Chosen Option : 2

Q.63 The F2 genotypic ratio for a trait with incomplete dominance is:

Ans 1. 2 : 1

2. 3 : 1

3. 1 : 2 : 1

4. 9 : 3 : 3 : 1



Question ID : 99836725917
Status : Answered

Chosen Option : 4

Q.64 Which of the following plant growth regulators is a derivative of carotenoids?
Ans 1. Gibberellic acid

2. Kinetin

3. Abscisic acid

4. IAA

Question ID : 99836725844
Status : Answered

Chosen Option : 2

Q.65 In brain, the respiratory rhythm centre is located at:
Ans 1. medulla

2. cerebellum

3. pons

4. corpus callosum

Question ID : 99836725852
Status : Answered

Chosen Option : 1

Q.66 Which of the following statements is true regarding bundle sheath cells?
Ans 1. They have thin walls for efficient gas exchange

2. They lack RuBisCO

3. They lack PEPcase

4. They have fewer chloroplasts

Question ID : 99836725842
Status : Answered

Chosen Option : 1

Q.67 The E. coli cloning vector pBR322 has antibiotic resistance genes for:
Ans 1. ampicillin only

2. kanamycin and penicillin

3. penicillin only

4. tetracycline and ampicillin

Question ID : 99836725921
Status : Answered

Chosen Option : 4

Q.68 Which of the following plant structures is diploid?
Ans 1. Protonema

2. Strobilus

3. Thallus

4. Prothallus

Question ID : 99836725825
Status : Answered

Chosen Option : 2



Q.69 Which of the following is a jawless sea animal devoid of scales?
Ans 1. Hippocampus

2. Petromyzon

3. Catla

4. Pristis

Question ID : 99836725824
Status : Answered

Chosen Option : 2

Q.70 Which of the following is NOT located towards the stroma side of the thylakoid
membrane?

Ans 1. Primary acceptor of electrons

2. F0 part of ATPase

3. NADP reductase

4. F1 part of ATPase

Question ID : 99836725841
Status : Answered

Chosen Option : 2

Q.71 The type of placentation in china rose is:
Ans 1. marginal

2. parietal

3. basal

4. axile

Question ID : 99836725906
Status : Answered

Chosen Option : 4

Q.72 The flowering condition that prevents geitonogamy is:
Ans 1. dioecy

2. asynchronicity

3. self-incompatibility

4. position difference

Question ID : 99836725859
Status : Answered

Chosen Option : 4

Q.73 During cellular respiration, the energy required to generate proton gradient is derived
from:

Ans 1. oxidation-reduction reaction

2. hydroxylation reaction

3. carboxylation reaction

4. light energy

Question ID : 99836725847
Status : Answered

Chosen Option : 2

Q.74 Which of the following statements is NOT true regarding the human genome?
Ans 1. The human genome contains 3164.7 million nucleotide bases.



2. Chromosome 1 has most genes.

3. Less than 2% of the genome codes for proteins.

4. Almost 90% of the nucleotide bases are exactly same in all people.

Question ID : 99836725875
Status : Answered

Chosen Option : 2

Q.75 In angiosperms, male and female gametophytes, respectively, are:
Ans 1. microsporangium and megasporangium

2. anther and nucellus

3. pollen grains and embryo sac

4. stamen and pistil

Question ID : 99836725861
Status : Answered

Chosen Option : 3

Q.76 The oldest known man-like primate fossil is:
Ans 1. Dryopithecus

2. Homo habilis

3. Ramapithecus

4. Australopithecus

Question ID : 99836725879
Status : Answered

Chosen Option : 3

Q.77 The volume of air that will remain in lungs after a normal expiration is termed as:
Ans 1. functional residual capacity

2. inspiratory reserve volume

3. residual volume

4. expiratory reserve volume

Question ID : 99836725850
Status : Answered

Chosen Option : 1

Q.78 National Institute of Botanical Research is located at:
Ans 1. Lucknow

2. Howrah

3. Dehradun

4. Ranchi

Question ID : 99836725829
Status : Answered

Chosen Option : 1

Q.79 Small nuclear RNAs are essential for post-translational __________.
Ans 1. capping

2. tailing

3. splicing

4. editing



Question ID : 99836725914
Status : Answered

Chosen Option : 2

Q.80 The sequence of RNA transcribed from a DNA with the coding strand as ATTCGCAT
will be:

Ans 1. AUUCGCAU

2. UAAGCGUA

3. ATTCGCAT

4. TAAGCGTA

Question ID : 99836725915
Status : Answered

Chosen Option : 1

Q.81 Which of the following statements is INCORRECT regarding smoking?
Ans 1. It increases blood pressure.

2. It increases the risk of lung cancer.

3. It reduces haembound oxygen in blood

4. It is non-addictive.

Question ID : 99836725918
Status : Answered

Chosen Option : 4

Q.82 Which of the following animal species will have a comparatively higher number of
juxta medullary nephrons?

Ans 1. Camels

2. Lions

3. Humans

4. Whales

Question ID : 99836725855
Status : Answered

Chosen Option : 1

Q.83 Chemical synthesis of oligonucleotides was initially done by:
Ans 1. Maxam and Gilbert

2. Marshall Nirenberg

3. Frederick Sanger

4. Har Gobind Khurana

Question ID : 99836725876
Status : Answered

Chosen Option : 4

Q.84 Which of the following plant seed has remnants of nucellus?
Ans 1. Black pepper

2. Cashew

3. Groundnut

4. Wheat

Question ID : 99836725860
Status : Answered



Chosen Option : 1

Q.85 Which of the following is INCORRECTLY matched?
Ans 1. Compound epithelium - Skin

2. Squamous epithelium - Blood vessels

3. Columnar epithelium - Salivary glands

4. Ciliated epithelium - Air sacs of lungs

Question ID : 99836725832
Status : Answered

Chosen Option : 1

Q.86 The chemical substance that causes chills and high fever in malaria is:
Ans 1. haemozoin

2. hementin

3. haematin

4. haemin

Question ID : 99836725883
Status : Answered

Chosen Option : 1

Q.87 The antibiotic penicillin is obtained from Penicillium notatum, which is a:
Ans 1. bacteria

2. yeast

3. algae

4. mould

Question ID : 99836725887
Status : Answered

Chosen Option : 4

Q.88 Meandrina is also known as:
Ans 1. sea-fan

2. sea-pen

3. brain coral

4. sea anemone

Question ID : 99836725827
Status : Answered

Chosen Option : 1

Q.89 Sickle cell anaemia is caused by a single base substitution of:
Ans 1. U to A

2. A to T

3. T to A

4. A to U

Question ID : 99836725873
Status : Answered

Chosen Option : 4

Q.90 What will be the chromosome number in the meiocyte of maize if its gamete has 10
chromosomes?



Ans 1. 30

2. 5

3. 10

4. 20

Question ID : 99836725858
Status : Answered

Chosen Option : 4

Q.91 Which of the following minerals is required for splitting water to liberate oxygen
during photosynthesis?

Ans 1. Zinc

2. Manganese

3. Magnesium

4. Iron

Question ID : 99836725910
Status : Answered

Chosen Option : 3

Q.92 The largest reservoir of carbon dioxide is the:
Ans 1. ocean

2. troposphere

3. stratosphere

4. earth landmass

Question ID : 99836725904
Status : Answered

Chosen Option : 2

Q.93 Transgenic cow Rosie is used for:
Ans 1. production of nutritionally enriched food

2. chemical safety testing

3. vaccine testing

4. study of diseases

Question ID : 99836725922
Status : Answered

Chosen Option : 3

Q.94 Casparian strips help in:
Ans 1. development of root pressure

2. turgidity of tissues

3. exchange of gases

4. opening of stomata

Question ID : 99836725835
Status : Answered

Chosen Option : 3

Q.95 Which of the following animal species is unisexual?
Ans 1. Cockroach

2. Earthworm



3. Sponge

4. Tapeworm

Question ID : 99836725913
Status : Answered

Chosen Option : 1

Q.96 Himgiri is a hybridised variety of wheat that is resistant to:
Ans 1. leaf and stripe rust

2. bacterial blight

3. white rust

4. tobacco mosaic virus

Question ID : 99836725884
Status : Answered

Chosen Option : 2

Q.97 The secretions of the seminal vesicle are released into:
Ans 1. rete testis

2. vasa efferentia

3. vas deferens

4. epididymis

Question ID : 99836725862
Status : Answered

Chosen Option : 2

Q.98 What percentage of PAR is captured by plants?
Ans 1. 10-20 percentage

2. 50 percentage

3. 2-10 percentage

4. 20-40 percentage

Question ID : 99836725902
Status : Answered

Chosen Option : 3

Q.99 The micro-organism used as biofertiliser is:
Ans 1. Aspergillus

2. Staphylococcus

3. Anabaena

4. Trichoderma

Question ID : 99836725888
Status : Answered

Chosen Option : 3

Q.100 Appendix is a vestigial organ which arises from:
Ans 1. caecum

2. ileum

3. Colon

4. intersection of ileum and caecum

Question ID : 99836725848
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